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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30
’I'ime ¢ Three hours -

The fzgures in the margin indicate full marks
~ for the questions.

' Q. No. 1 catries 1 mark each .
| | 1@ Ixd= 4

1 (b). ,_ 1x'2=.2 ,
1() _ x2= 2
Q. Nos. 2-6 carry 2 maﬂcs erlzch'. | - 2x5 =10
Q. Nos. 7-11 Caﬂf‘y 3 marks each ~ S 3x5 = 1;5
Q. Nos. 12-18 carry 5 marks each o © 5x7 = 35
Q. Nos. 19-22 carry 8 marks each 8x4 = 32
| Total =100
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1. (a) Fill in the blanks with appropriate word/ words : (any four)
Goige < AR oW 8 (Ao wRBY)

‘(i) I_ncoine and Expenditure Account is prepared on __basis.

i o Fofs ege o R
(ii) Liability of a partner is .
TG GANIRE (FAR AR |
, (iii_) Annual Report is issued by a compangr to its A
| ﬁﬁ@wﬁmmﬁﬁm - sREeE
(ib) quu1d ratio is the relatlonshlp between _____ . and current

liabilities. 1

o SATs ____ SIe Bfers mmm.
‘ ofacompany a 1

_—_—

(v) Equity shareholders are _
IAHAD. 4T I <5t @I

() Choose the correct alternative :-

@%MW@"

(i) When.a new partner is adnutted -
| ﬁawmwﬁ%*ﬁww—
(1) Consent of all the partners is requlreii. :
SRl SRAIE TSI A 2| |
(b) Consent of majority of the partners is required.
R ST A e 7|
() . Cénsent of any one partner is required.

Rl e ST AR e =
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(ii) . Balance of shares forfeited account after re‘-issue is {'ransferred
to — ' 1

wﬁﬁaﬁ%mewwwﬁmmwwwel—

(@) Reserve Fund |

- vifes sffens |

() Profit and Loss Account
() Capital Reserve

e e

(c) State whether the followmg statements are ”True ‘or“False” (auJ two)

o %ﬁmq{ “oE o R e (ﬁmmr o)
(i) Outstandlng subscription is an asset. T
AT e e @B T | ‘
' (ii)‘ A Preference Sharehdlder' gets interest at a fixed rate, . 1
| mwﬁmﬁiﬂmaﬁﬁ%mrml
| (m) Company’s shares are generally transferable | 1
Wﬁa SSITE IS BN |
(iv) Llfe membership fee | is a cap1ta1 receipt. = - | 1
| OISR W T R G TR W |
2. Mention Hwo features of a rlot-for-profit organisation. - .2
1S el b 7 TR S o
3. What is Profit and Loss Appropriation Account ?- - : 9
ST Goiarer f2ott ¢ | o
4.  What is the meaning of Cash Flow ‘from Fmancmg Activities? 2

: ‘ﬁ@ﬂ@wmwmwwmﬁam?wﬁml
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5. Menhon any. two features of a debenture
e ﬁwﬁﬁhﬂi}w@n |

6. Men’aon any koo rights of a partner.
AW TS ﬁmgﬁr@f‘@aww|

7. - A and B are partners sharing profits and lossés in the ratio 3: 2. Cis
dered ¥4td of his share and.-B

admitted into the partnership. A surren

surrendered Y, th of his. share in favour.of C. Determine the new profit
sharing ratio. : 3

AWB@HWWWW@’@S3 2@&9{1"6{1‘-@%1?21«%325@\
C- g S fRpiee AR ZeT L A-G 69 (96 TR Y OI% B- (@ (09T T
s/ w:*tctamoﬁasﬁmlﬂma%aawwﬁ@ml :

OR/ !

| erfe three d1st1nct10ns between Fixed Capital Account and Fluctuating

“Capital Account.
ﬁaaﬁmﬁmﬂmwﬁzﬁfﬁmﬁﬁmmw Fﬁi‘fvn%ﬁﬂﬁw

8. | ) Explam three uses of financial statement. .~ 3
RS Ao fofo! W g 9 | | |
9. Mennon any three objectives of preparmg Comparative Statement 3
o WWW«W%WWWl |
OR/ A3t '

A company s stock is Rs 2,00,000. Total liquid assets are Rs. 8 00 000 and
quick ratio is’ 2 1. Calculate current ratio.

Bt (@I TR orﬁmctazoooomsﬁs-aawf%ﬂvrﬁmqisoo
mwrmz 1l6ﬁ"‘ﬂi”ﬂ'ﬁ‘ﬁﬂl | 000 1=
10. Explain the following terms SR B 3
oo SR I 98
. (i) Capital Fund

32T ACOU [4]



11.

32T ACOU

Write Hiree differences between Reallsatlon Account and Revaluation

(i) Life Membership Fee

(iti) Enpt._ancelFee
o " OR/ A=

* Write three featutes of Fund Based Accounting.

Wﬁwwqa Fﬁ?fhﬁmﬁw
OR/ 7%l

, " Calculate the amiount of statlonery consumed to be shown 1n the Income
and Expenditure A/c for the year ended 31st December, 2020 — .

31 BB, 2020—1ﬁznlwvﬁtaawmmfimvr W‘Wmﬂﬁw
Refr F— | ,

01-01-2020  31-12-2020
Creditors for stationery 4,000 . 6,200
5,400 5,000

Stock of stationery

vfmﬂaﬁm

During the year 2020 payment made for stationery was =40,000.

2020 744 oTe TR AE 40,000 T ofRpN 1 3R

Account 3 .

quﬁwﬂmwmﬁmmwwﬁﬁwmwM|
: OR/ARA .

‘Write any three uses of Cash Flow Statement.

M e effora R o e

| [5] | | . Contd,



'12.  Prepare Income and ~Expenditu
~ and Payments Account and other
31st December, 2019 :

re
Jetails of Surya Club for the year ended

Account from the following Receipts - :

5

11 R, 2019 ST TGPl T G O R T Al S it o
gy R o TR T SR it e TE |

Receipts and Payments Account

Cr.

30T ACOU

- Dr. | (T4T5 B=Hi7) -
Receipt (&) (2) | Payments (45) - ®
To Balance b/d : By  ‘Salaries - 12,000
(SIS Tg8) - | | () -
_Cash-in—hand‘ 10,000 | By Honorarium 3,000
| mem - @ |
~ |To Subscriptions By - Travelling Expenses 2,000
@R 4 ) (%4 TA) '
2018 — 900 | | By Telephone Charges 5,000
- 9019 — 19,000 (R 4)
2020 — 1,000 |. ‘. |
— | 20,900 . .
To Sale of newspaper 100 | By Investment 10,000
 (aroRereed R - (RfFca) |
To Life Membership Fee | . 5,000 | By Construction of Building | 7,000 |
| (o ey ) | (T ) 1 |
To Donation (#F) 6,000 | By Rent (S1¢) 2,000
e Donation for Building| 8000 | By Postage (519 1,000
(IR AW TI) | . | By Balancec/d: | |
To Interest (G0) 200 i v7%)
To Maintenance Grant 2,000 | Cashfhi"hand ("7 w=t) | 11,200 '
(siRbTeT! S) . ‘ |
To Sale of Furniture -1,000 |
(warR ) |
| B 53,200 53,200
\
(61



13}

|

Other defm'lé (I fFE9)
(i) Outstanding Salaries — 1,000
T T — 1,000 5
(i1) Subsériﬁtidn outstanding — 2 2,000
o 39ed — 2,000 5
(if1) Subscription for 2019 received in 2018 — Z 200

~019 <4 FAe 2018 © C7iid &t — 200 s
OR/ @

Write five distinctions  between Receipts and Payments Account and

Income and Expenditure Account.

@mwﬁwmw-wﬁwmw S5 Al

Explain the method of calculating #1Cash flows from Operating Activities”
* under direct method.

5

-

m%ﬁwmﬁﬁmmwawmﬁ@mmﬁmaﬁ

34|
"OR/ 72!

Calculate cash from operating activities trom the following information::

WW@%WWW%WHW%@?@‘M%@W%

2019 (%)
Profit and Loss A/¢. (e~ f=o171) 60,000
Debtors (@ AR) : - 87,000
Bills Receivable (275 &&) Ay, 62,000
General Reserve kIGE! ‘91@7) 2,02,000

Salary Outstanding (SR ) A C 0T 000
Wages Prepaid (@S e G H) 5,000
Goodwill (1) 80,000

Cash and Bank Balance (757 Sl @FE Tg8) 40,000

32T ACOU Al

2020 ()
65,000
50,000

1,03,000

2,37,000
12,000

7,000
70,000
30,000

Contd.




14 What is Ratio Analy31s ? Mention any three limitations of ratlo analys1s
. 243=5 -

wwmq%vwwﬁm«ﬁmwﬁﬁﬁwm%@mmn -
~ OR/ ¥ |

Brleﬂy explain the meaning and 51gmf1cance of any two of the followmg
ratios — 21/z><2-5

w—ﬁmwm ﬁzwwimmfm @WS@?@WW— |
(i) Debt—Eqmty Ratio
| ﬁlcf W\"f NS
(zz) Gross Profit Raho
| ST O
(i) Quick Ratio
QRS TS
(iv) Stock Turnover Ratio |
TGS Al) RS TATS
OR/ 7z
.+ Cost of Goods Sold — "2 3,00,000 .
Rl AT FTET
Stock Turnover Ratio — 6 times
TG S SIS TS (6 I9)

’ Find out the value of Opening Stock, if-Opening Stock is ¥10,000 less than.
the Closing Stock: ' 5

vﬁwwﬁwwﬂmﬁm‘ﬁmmmom“@ m@wm
- o e R A |

32T ACOU - - | (8]



15. From the following Income Statement, pfeparé Common Size Income
Statement and give your comments : : '

5

—mwa%@vﬂmw W@mwwmmwmmﬁﬁ

T® SR ¢

| Particulars '2018.,('2") 2019 (i) | Particulars 2018 (}) ‘| 2019 (i)A .
Gl ' (Rgad) | '
To Cost of . ~ By Net Sales | 1,20,000 | 1,45,000

| Goods Sold | . 95,000 | 1,05000 | (ep® ") 1
(ReFrRsal AT ‘ L
FALT) ~
To Gross L .
Profit ¢/d 125,000 40,000 |
(o ) = ' - 1
- 1,20,000 | 1,45,000 11,20,000 -| 145,000
To Office - | | By Gross -
Expenses * 2,000 | 8000 | Profitb/d 25,000 140,000
(FRGTE 4T) (5 =) - 1

‘To Distribution | . S . , \
Expenses 3,000 | 5,000

GG, |

To Net : )

Profit ¢/d 20,000 | 27,000

(oS =MS) ‘ ' _ ~ _

. 125,000 | 40,000. 25,000 40,000
OR/ &t

Give the new format of the Balance Sheet of a company (main headings -
~only) as per the requlrements of the revised Schedule-VI of the Companies

~Act. o .
,Mwwﬁmﬁ——fmmwﬁmmﬁw@@ﬂ T RPRCD)
(WTBIIWMWI .

A ACOU [91 - Contd.



- OR/ &I

Give five points of distinctions between under-subscription and over-

subscription.

16. A, B and C were in partners‘hip sharing profits and losses in the ratio of
3-2:1. On 1st January, 2020, B retired from the firm. On that date their

Balance Sheet was as follows : 2+3=5.
A, B IR C (3 3:2:1wmm-mﬂﬁ¢%waﬁm%w$ﬁwﬁ%\
1 GRS, 2020 R4 B (g 2ifem 7l SR 4T T g olfFds (0SS
Ericacr oA CREEIRSRN i1 ¢ '

Balance Sheet (T 71@)

Liabilities (¢ ®) Assets (7€) ®) J
Creditors 27180 | Cash (o &) 9,400
(AAleamiF) Debtors (=) 16,000
Capitals s ¥ o - .
() Stock (@ ) 23,380

A 30,000 | Building (¥) 46,000
1(3: 38’888 Profit and Loss A/c 2,400
222 70000 | (are-caiioi i)
ka0 e
97,180
b B SRR <l

The terms of the retirement were :
TR R Sl ¢
(i) Building is to be appreciated by 2 14,000
e T 14,000 T 3 4 = |
(i) Provision for doubtful debts is to be m.ade at 5% on the debtors.

(AR @IS 5% TGP 4o S st 1 74

(iii) The goodwill of the firm is to be valued at 236,000.
eifowa FERE IETEA 36,000 o3e 39| 29|

32T ACOU [10]
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(w) No cash is to.be paid to B immediately and balance of his cap1ta1
account is to be transferred to his loan account.

B WM @@eﬁaﬁm AR aﬁaw‘ﬁm (943 A ﬁmvﬁ%‘q@
(067 et fRpisiteT TR, FI XTI
Prepare Revaluation ‘Account and Partners' Capital. Account.

AT f25iel SR SRR A i o |

. | OR/ W
 Write the uses of securities prermum amount
g St R JREFTIR Bl -
17. P, Q and R were in partnership sharing profits and losses in the ratio of
4:3:3.On 31st March, 2020 their Balance Sheet was as follows : 5

P, Q W% R 4:3: 3@@’611*—@@3%3@%@%%@%
wrfti—en 31 W, 2020 ©IRS (@SR Ygeriadn s i s e
" Balance Sheet ("\‘a"g"‘ GV '

Liabilities (G) @ Assets (FfE) ® .
Creditors (qr[\gw) 87,000 | Fixéd Assets (’{1?1 '*T“Vf%) ,2'90{000
Reserve (7 &) 33,000 | Stock and Debtors 85,000 | -
Capital Accounts : | ' (e A i () '
(e feotel). | Cash (7o) . 15,000

" P :1,05000 | - ce ,
Q : 85000 Al
R': 80000 | 500001 |
| 390,000 . - | 3,90,000

" 1Q' died on 30.6.2020. Under the partnership agreement the executors of a
deceased partner were entitled to: '

30.6.2020 BIR<S Q-3 Y | FRes o ol AR o 3
(1 Amount standing to the credit of deceased partner’ s capital account

g—w\ﬁmaﬂmﬁwﬁr@%—w eliol & |

32TACOU | [11] Contd.



18.

32T ACOU

®)
TR 12% TR WW@WTI

(c)

- (@)

Dlstmgulsh ‘between Proflt and Loss “account and Profit and Loss ‘

Interest on capital @ 12% p.a.

His share of goodwﬂl The goodwill of the firm on Q‘s death was
valued at Z2, 70,000.

~maww\mq—amﬁmaawwzmooow—m

7|

Share of profit from the closing of the last financial year to the date
of death on the basis of last year's proflts '
ﬁa—wmﬁﬁrﬁrwmﬁﬁ@ﬁﬂawmwﬁwﬁm
W\‘q | ' .

The profit of the flrm for the year ended 31.3.2020 was 22,40,000.

3132020@@%%%«1«%:% a%émwm ﬂﬁmwﬁ@ 2,40,000
SR - L ‘
Prepare Q's. caprtal account on the date of his death.

Q= ToR OiReS (@ds T il e il
OR/W |

5

Appropriation account.

wmwﬁmmarm%mmﬁmmwmwml

What is Realisatidn Account ? Write three cases where a partnership firm

may be dissolved by a court.

2+3=5

Wq@qﬁpammmm@\%ww@mﬁﬁm
SREN Omd A o ‘

[12]



OR/ &t

Amal and Bimal are two partners in a firm. They share p.roflts'as 3:2.
. Followmg is their Balance Sheet as on 3lst March, 2021 on which date the
firm-is dlssolved -

.‘WWWQMWWWINWBZWWWWWI
31 W5, 2021—1ﬁw—c—\sm%§@m—crm«« R fa eifovimeRe

_Wﬂ QTI H
S Balance Sheet (@59.9&‘1)

Liabilities (&) ~ | @) Assets (37ifa) | T
Creditors (*leami®) 20,000 | Fixed Assets (Z& (). | 30,000
Reserve (Wﬁa@ ?Iﬁﬁ) 5,000 | stock (TGS ) - 10,000
Capitals: (F1) | " | Debtors (cAMR) 15,000

|Amal 20000 Cash (W) | 3,000
(STeT) B | o » |
Bimal . 15’000 ‘ Pl'Qflt & Loss A/ c - B . 2,000
(Re) 35,000 | (TSR ot
: - 60,000 - o 60,000 |

Fixed Assets are realised at % 28,000. Stock at Z 8,000 and Debtors at
'Z 13,000. ‘Expenses on reahsa’non are T 1,500. Creditors are pald at a

- discount of 10%.

B SR KRRt 91 28,000 T (RN o= | TGO #I9 #4 8,000 msnsna,
GAMEE S 13,000 B (ART T SEUMEGA 09 SR 1,500 Gl
eI 10% (TS iy 7 24 | :

Prepare Realisation Account, Partners' Capital Account and Cash Account.
| | 2+2+1=5

R e, AN TR ot G o Bt oS

32TACOU S £ Y | - Contd,



' 19 Pradeep and Pranab are partners in a firm. The Trial Balance of the firm
as'on 31st March, 2020 was as under : : 8

'aﬁ’mma«ammwﬁmmw 2020—11%%:—%@«%5@
Trial Balance (%@ ﬁ?ﬂ"i_ ) » -

" 3 “Debit 1 ® - Credit = ®)
Machinery (W°1fS) | - 54,000 ¢apgi;de(3§ " o000 |
Goodwill (FFI) 10,000 ‘(o) I
Patent ((91(6°0) ' ] 20,000 Pranab - — 40,000 |
Sundry Debtors " 21000 | (&) ‘ - 90,000
RRe omm) Sindry Creditors 5,000 |-
| Cash in hand (57 ) 1,000 [ (AR ofeamm) |
Closing Stock ' :25,000 | Interest on Investment ~ |- 400
(TRE TGS 10) | (AR eiRe ) |
10000 | - | . |
gle ‘;iz(;r:n(ffﬁl)hme ry 6,003 | Sundry Re‘cejpts (ﬁﬁﬂ i) 200
(@R eome owwE) || Bills Payable (2@ Rer) | 2,000
Rent (S9 -1 -10,000. | ' . |
Coriage Ourd | 1400 | ok Qverdrlt | 100
(Regefe wifRaa) o -
Taxes () 500 (O}Im;??éﬁfh?)g Wages 500
Teleph'ohe. éhar'ges - 3,600 Trading Account: .
(GGTICFINT <436) SR o
Commission (F{57) . 800 (@R ﬁs‘ﬂ) ‘ :
Drawings (@) s . ’Gross Profit (I3 W) 71,000
| Pradeep (2f1s) 5000 Discount (31G1) | 900
| Pranab (299) 4,000] 9,000 -
| salaries (w@w) 1 8000| -
- | Bank Charges ((I%3] ¥3b) ,' 100 '

1,80,000

1180000

’ 1000
Lo B ‘L\\.
32T ACOU , [14]



19 Pradeep and Pranab are partners in a firm. The Trial Balance of the firm
as on 31st March, 2020 was as under : : \ 8

’zﬁvfmmwmﬁaaw\%|3lw 2020@%&%1321«%@@

Trial Balance (¥g@ ﬁFF{?lu'ﬂ') , ‘ -

', ;_QDebit,' | ® B Credit (®)
M . o Cépltal () |
Meachinery (F271f®) . 54,000 Poradecp — 50,000 |
Goodwill (FI%) 10,000 (Zﬁ"f) o
Patent ((9[5%) - | 20,000 Pranab - — 40,000 | 90,00
Sundry Debtors 21,000 (2R) N . 2000
(RRe omm) | | Sundry Creditors 5,000 -
| Cash in hand (FI‘?W W) 1,000 (kY heamix) |
Closing Stock | | 25000 | Interest on Investment, = |- 400
(R TGS 4 | (RRaeR evie e) |
Investmient (RfSga) 10,000 { - - o : ' '
Depreciation on Machinery 6000 Sundry Receipts (Riva enfey) 200
(REITER @oiee o) .| Bills Payable (eita fRe1) 2,000
Rent (Srel) | 10997 ponk overdraft | 10000|
Carriage Outward - 1,000 (Cﬁ"?ﬁ TORTED) S R
(Rerzafe =) - ) '
T ) , 500 Outstandmg Wages o 500
axe? Y ‘ ~‘ - i (am ﬂgﬁ) .
Telephone charges 3,600 Trading Accountt -
(BT <) R g
Commission () 800 Tﬁm ]"5519{) ' |
Drawings (SN23¢) 3 | ro.ss Profit G:b m) | 71000
| Pradeep (ael) -~ 5000{ Discount (1g1) | 900
| Pranab (o) 4,000/ 9,000 | . B
| Salaries (vVJs1g) {8000
| Bank Charges (@< 295)| . 100 |
| ' 1,80,000

7N, 00
32T ACOU | (14]



Prepare Profit and Loss Account, Profit and Loss Appropriation Account
and the Balance Sheet of the firm for the year ended 31st March, 2020, after

considering the following information :
o it PR R TR 31 5, 2020 O sl 749 AR - H
Bp1el, FAS-(EARFE GoTAreH {2517l S Tgeiade aEs 3 8

(i)  Write off ¥ 1,000 as Bad Debt and provide a 59 Provision on Sundry
Debtors for Doubtful Debts. ' ‘

1000 56l SEERAE ¥l ol @ T I Rft oM @78, 5%
s AoifE sion B F |

(i) Interest on Investment Accrued % 600.
Bfraile o AReaal 600 T o
(iii) Interest on Partners' capital is allowed @ 5% p-a.
S SR @7 T2 5% 2@ o 4R |
(iv) ‘Create a General Reserve by taking 2 5,000 out of profit.

@4 #fal 5,000 5 T @ FAfes e stot T A |

pital and Issued Capi’éal

20. (n) Write two differences between Authorised Ca
of a company. '

m'mﬁﬂﬁﬁ@qmﬁﬁgﬂmwﬁﬁwqﬁmw 701 stiefey forll

(b) Whélt is Minimum Sﬁbscription ? 2
() What is Reserve Capital ? i)
e &2
(d) What is Call-in-Arrear ? 2
el werdt A 2 |
ST ZE0l [15] Contd.



OR/ AR

Arnab Company Ltd. issued 10,000 equity shares of 2 100 each at a

premium of 10% payable as under : ! 8

2 30 on Application
3 60 on Allotment (including premium)

Z 20 on call .

Kamalesh holding 400 shares failed to pay the allotment and call

. money and Monalisha holding 700 shares failed to pay the call
money. ' :
Show the Entries in the Cash book and Journal of the company for

the above transactions.

o @R BRGS dfod 100 B TR 10,000 < SR 10%
7 e [ 0 | TS wee il €10 sifrli RS = 8

30 5l SN S99
60 531 (SIfaTa TI09) SIRFO- a7
20 Tl ERE F1919

400 2 ST 4R FACGTCH ST SR O 4 O 1 iR ok
700@@%&%%&#@@3%@@%% QIRISEHE

%WWW@W@??%@HWWWW Bt
|

71. Give Journal entries for issue and redemption of Debentures in respect of

the following : 8

GiIC) oﬁmm@mmﬁuﬁmﬁ%mﬁﬁvmmwmfmg
(a) Debentures issued at a.discount and redeemable at premium

ool qigre Riead Sl wftmEe “AfReiy |

32T ACOU [16]




(®)

, Debentures issued at pre

.amvm‘a SIERES R oI SRERe AR

(;) v

'Debentures issued at par and redeemable at par.

«qmﬂwﬁﬁwﬁmwﬁﬂmm

(@

ool SRS R SR TS, AT
OR/7&

~What are the dlfferences between a ' shareholder and a debentureholder}?
o AT AT AT AT e wWﬁf ﬁs ?
OR/ AT ~

_Explain different methods of_redemptlonlof debentures.

ol SRCI TSR srafowg 3o 3

Ram and Mohan are partners sharing profits and losse

f Balance Sheet on. 1st . April, 2021 was follows :
e (A FNE TS SN WWWWWH qfer, 2021—ﬁ%=r—

mium and redeemable at premium.

Debentures issued at premium-and redeemable at par.

S equally. Their
8

32T ACOU

c—emm %g@i@ﬂﬂ e T e e s
. Balance Sheet @Q_ g a
Liabilities () ®) Assets (7€) Q) -
Sundry Creditors 15,000 | Cash (), . 5,000
| (RR 9{(1\331?@)’) Debtors (m)- 16,000
. :C lta.l W@ .
. Stock (FES) 12,000
Ram 40,000 o
(I) | Machinery (TZATS) 22,000 |
Mohan 30,000 Building (&) 30,000
(=) e 70,000 | '
85,000 85,000
[17] Contd. -



They decided to admit Sanjoy into partnership for 1/3rd share on the

following terms :

(ST 1/3 TR A NGTF S0 b fofGe SRAMIR! TPITS THoe
=99 e =0 ¢ :

(i)  Machinery and Buildings were revalued at ¥ 20,000 and T 42,000

respectively.

AT FI7 A Wi S o @ 20,000 Tl i 42,000 T 41
L 9 g |

(i) Creditors were reduced by 2 2,000.
AN AT 2,000 DI Zo F1 24 |

(iii) Provision for doubtful debts on debtors is to be created at ¥ 1,000.
A €2 1,000 TR ACwEEEE el 5o 1 79|

(iv) Sanjoy is to bring in ¥ 40,000 as his capital and Z 24,000 as premium

for goodwill.

AT 40,000 5! JELA W< 24,000 bl TR fEfEE et wif e

Pass Journal entries for the above information and prepare Balance Sheet

of the firm after the admission of Sanjoy.

GARIE SAPE I Gl @ifife Rl Ui g wweien sigs efeim Ty
; . <

AGL o 4 |

OR/ &

(i)  Write any three limitations of partnership business. 2
SR AR Rigpiga [orb] Asael & |
32T ACOU [18]




(i) Explain five factors affecting the goodwill of a firm. 5

aﬁﬁmaamwsa@mcﬁmaeﬁtﬂwﬁamﬁﬁmﬁaaml
OR/ Izt |

een dissolution of Partnership and dissolution of

Dlstmcruish betw
8

Partnership firm.

'Wfﬁﬁﬁ‘h@aﬂmm@\WWWWﬂﬁmi

32T ACOU [19]




